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CHAPTER

Analytical Puzzle-«a7 #fifofe

Analytical Puzzle 3 Logic Puzzle @3 ™ Questions & & &F @30 situation-
el 4y 0w | @399 @ situation-«F Y TRIRES 5 task; @@ @3B group meeting @3
schedule 5% %1, a1 36 team-97 &= players select 41, AT @35 office- @7 fifeq
branch-«3 S5 information distribution fFea s 783 Ton7 - [ifeg =& @ @@ TS
= | Puzzle @3 Questions T R ©f 7R(& @RI &= ot example-b Tl @Co A1 |

Example:

Six patients — Ishrat, Jasmin, Kristin, Liza, Mehrab, and Tisha -are to visit a
dentist one after another.

Kristin has to visit the dentist before Ishrat.

Ishrat can only be either second or fourth patient to visit the dentist.

@ @5 situation- &3 IR 29 o *$ 71 SR, T (0 Feva 2%ifoa Tea @@ Fa0e =04 |

01. Which of the following is a possible order in which the patients can visit
the dentist?
A. Mehrab, Tisha, Jasmin, Ishrat, Kristin, Liza
B. Ishrat, Jasmin, Kristin, Liza, Mehrab, Tisha
C. Jasmin, Kristin, Liza, Mehrab, Tisha, Ishrat
D. Liza, Jasmin, Kristin, Ishrat, Mehrab, Tisha
E. Jasmin, Kristin, Ishrat, Liza, Mehrab, Tisha

2047 S Teq (99 F919 & dfelG Answer Choice *r$efem s [t (rate 209 | (esa
Tofq 4B1® Analytical Puzzle Questions - <3 #fafbfe |
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Common Puzzle Types ‘I
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[0 Sequencing or Scheduling Puzzles

bR R @G SRR (AT -

B Sequencing or Scheduling Puzzles

Sequencing 3 Scheduling Puzzles -931 &td FY=es @ €5 Problems (e A o
ot

- ¢f6 Floor- @7 #mif4 ¢f5 a1 aft Office Room ffeg employee- ™= gy 376+ 1,
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Example of Sequence Puzzle: Question 01 — 07

There will be seven performers in a talent show: a guitarist, a hypnotist, a juggler,
a magician, a pianist, a singer, and a ventriloquist. Exactly three of the performers
— the guitarist, the pianist, and the singer — will each require a recorded musical
accompaniment. The schedule for the show has seven consecutive time slots.
Each of the seven performers will appear in exactly one time slot, and each time
slot will have exactly one performer appearing in it. The schedule must follow the
rules below:

The juggler must appear first.

The ventriloquist cannot appear immediately after the magician.

At most two performers requiring a recorded musical accompaniment can appear
in succession.

ol o2




02.

03.

04.

0s.

06.

=
01. Which of the following is an acceptable schedule for the last four

performers in the show?

Fourth Fifth Sixth Seventh
(A) Juggler Hypnotist Guitarist Pianist
(B) Guitarist Magician Ventriloquist Singer
(C) Magician Pianist Singer Guitarist
(D) Singer guitarist Pianist Hypnotist
(E) Ventriloquist Hypnotist Magician Singer

If the ventriloquist appears third, the singer appears fifth, and the pianist
appears sixth, which of the following must be true?

(A) The guitarist appears second.

(B) The guitarist appears fourth.

(C) The hypnotist appears second.

(D) The magician appears fourth.

(E) The magician appears seventh.

If the singer appears third and the pianist appears fourth, the guitarist
must appear either

(A) first or second (B) second or fifth

(C) second or seventh (D) fifth or sixth (E) sixth or seventh

If the ventriloquist appears fifth and the hypnotist appears sixth, which
of the following must be true? sdf

(A) The guitarist appears either third or seventh

(B) The magician appears either second or third

(C) The pianist appears either second or fourth.

(D) The singer appears either second or seventh

(E) The singer appears either third or fourth

If the hypnotist appears sixth and the magician appears seventh, which of
the following must be true?

(A) The ventriloquist appears third or fourth.

(B) The singer appears fourth or fifth.

(C) The juggler immediately precedes the pianist

(D) The pianist immediately precedes the guitarist

(E) The singer immediately precedes the hypnotist

What is the total number of different time slots into any one of which the
singer can be scheduled?
(A)3 (B) 4 (©)5 (D)6 (E)7
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=
07. If all of the performers requiring musical accompaniment appear before
the magician, who appears sixth, each of the following could be true
EXCEPT that the
(A) guitarist appears fifth (B) hypnotist appears fourth
(C) pianist appears second (D) singer appears fourth
(E) ventriloquist appears third

How to Solve a Sequence Puzzle : Ans. to Question 01-07

woHfS re 9af6 Sequence Puzzle «@ff |

@ G sentence W GFp 6 2ITS S, ©F &y %6 @ 97=% | Sentence B == ;
“Exactly three of the performers — the guitarist, the pianist, and the singer — will
each require a recorded musical accompaniment.”

AR

“At most two performers requiring a recorded musical accompaniment can
appear in succession.”’

«® vt A A I AR, ©f =A: Guitarist, Pianist € singer @¥ feFeaw
Performance-4 recorded musical accompaniment =7td, WH 48 fomewaa W4y
A q& #F #F (in succession) BfG time slot- @ perform s AR |

¢34, Condition -%T=tE Symbolize I T W AE:
sree performer : G, H,J, M, P, S, ¢ V.
(1) @2w Condition ¢ =T Wt Juggler (& 79 A9 &A¥ time slot-4 WPCS =0, T
T4 TR AT TICa-
(i) faSw Condition @ =T ®t, Magician €7 5% =@ Ventriloquist SIS =R
I, 0 TR AR @S-
()G, P ¢ S @7 Stgy o & 719 2 perform s AR e fores #17 #9 perform

FACS A A | T T TS 2T G- M/

G AT TR e

02. (A) X Condition (i) ™%, Juggler 552 1st @ P, 4™ @ 77 |
(B)X Condition (ii) ™47, Maguian €3 5% #ita Ventriloquist SIPTa 7 |
(C)X Condition (iif) i<, P, S. & G *f@=ia WIS /e 1
(D)X Condition (iii) T, S, G & P *f@#ia SIFCe »fracd 1
(E) v v
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AT AT &y 4F Diagram OtF (T QAT AR :

Qs. 1 2 3 4 5 6 7 Ans.
02 J G vV | &g | S P | &4 | A
03 J y S P| &6 | G G (E)
04 J M M | M| V H M | (B)
05 J % H M | A

J \Y% H M
07 J % M (B)
J \Y% M /<//

02. (A) Condition (iii) St G / P / S #=eia @eiea o1, 12 Guitarist 4™ a1 7 time
slot @ S 7T |

03. (E) Condition (iii) S Guitarist 2nd 2 5™ slot @ &P 51, B2 &7 WP AT
6th a1 7th slot «@ |

04. (B) Condition (ii) SR -Magician €3 5% #t@ Ventriloquist SIPTS A= 71- ©1%
Magician 4™ slot-a w1 71 | @< Magician 7 slot-e S = ST GG
G, P, e S 2" 3% e 4" o s off slot-a 5e1 @A, a1 Condition (iif) St
I N7 |

05. (A)Condition (iii) SR G, P, 8 S *&*@ of5 slot-a SFF 11 SR SIS
separate ¥ & V (& perform IS 2 3" e 4™ slot-a |

06. (D) Condition (i) <A Juggler sP™=2 perform 3=wa 1% slot- @ | ©1F wq@ 1
slot 9w w5 @ &1 65 slot- @ S perform TS 27T |

07. (B)@r=g magician 6th slot- @ @pia, Condition (i) wegmr, 7" slot- «
ventriloquist % 7 | Condition (iii) SR ventriloquist & %S 70 3rd A
4rd slot-«, qte I@ G, P, 8 S 2F %7 ofb slot-9 91 AtF | ¥R ETwH@ H S_*52
4™ slot-@ SR AT |
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Puzzle-99 Second Basic Type

B Group or Distribution Puzzles

Group Puzzles &, ©f 3T 17 71 2t32 | Group Puzzles e 12 074 :
05. FFe" Members 31 Items goyifs 45caa W2 1WF Members 3T Items Tat2
e @3 Group 7167 F9te =4 |
oX. FEFes Members 1 Items T 4f6 a1 foqG Group @ o F0® 207 |

Group Puzzles @ Condition &= FgR~® 7R g Indirect a1 Implied meaning
A q BFwe T R Group Puzzles W Fa1 I =@ 1 s 98 «@7@ Group
Puzzles @3 vfo o Sareae A SCAGAT F41 =07 | @2 el seamcel e Condition
@7 Implied meaning 31 SRS o< FRITS (ST FAT AT A |

” Example of Group Puzzles Type 1: Questions 08 - 10 ‘

The cast of a benefit program will consist of exactly four actors to be selected
from the seven actors P, Q, R, S, T, U, and V according to the following
conditions:

Either P or T must be in the cast, but they cannot both be in the cast.
If T is in the cast, then Q must be in the cast.
IF U is in the cast, then neither P nor R can be in the cast.

08. If U is in the cast, which of the following must also be in the cast?

(A)P B)Q (OR (D)S (E)V
09. If P is in the cast, any of the following groups of three could make up the
rest of the cast EXCEPT
(A)Q,R,and S B)Q,R,and V (C)Q, S, and V
(D)R,S,and V (E)S,U,and V

10. If S is in the cast but needs to be replaced, which of the following actors, if
not in the cast, is eligible to replace S regardless of the composition of the
rest of the cast?

(A)P (B)R OT (D)U (B)V
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Solution to Questions 08- 10

Seven actorsare P, Q. R, S, T, U, & V
The conditions are:

(i) IP or T| but [BX]
(i) T— Q

(iii) U > @/

08. (B) If U is in the cast P can’t be in the cast (see condition- iii)
If P is not in the cast T must be in the cast (see condition- 1)
If T is in cast Q must be in the cast (T — Q)

09. (E) P 3f# cast-9 2tF S condition- i A& T <663 91, SR condition- iii WFTS
=T U-GF T A 1 1 So, the diagram will look like:

IN ouT
1 2 3 4 1 2 3
P T U

WCRY cast @7 A v Wy T @k U A=6e3 97, 918 T o=@ U wice 99 t@« Choice -2
cast -9% 1P SR¥ 2® A7 7 | «F9@ choice (E) o2 U wiee sceR (E) =er A, B, C, D
et choice ® cast -3 T SR 20O 2IFCA, @R O FRe choice (E) -2 correct

answer.

We see that T and U can’t be in the cast. So, any choice that includes T or U can’t
make up the rest of the cast. We find all of the choices except E can make up the
rest of the cast - thus choice (E) is the correct answer.

10. (E) Cast-93 4 i@ @y S &« | Iw S & replace Fo = 7 I e
replace ST cast-93 IFT 3 GFCF & condition T (STHR AT AE | G S &
replace T9F & NF GFGH (F (AR 7S 7 @ @& Problem-«7 conditions (i),
(if), on (iii) *MBTe involved =1 Condition =T W_E YT |1 V &
condition-49 gy <2 | So, V can replace S regardless of the composition of
the rest of the cast.
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